BRI =P8 E
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3) f'(x)=tan @
EEBOBME - ATFmRERT
4) 7:<x,y>=xi+ yJ
Kb i joERr - §ify - B EMNEEGER  A@BHS TRIERK
)  dr =<dz,dy>=<dz,f (x)dz>
=(i+ f'(x)j)dx
MEBRHROER=BBZHEBHEX :
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HF(x,y )N (BBEE)RER
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AR EXFE y =0 FHSAES
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R EFHE =0 HYDARE
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_ 2f ?8f .
_(_____ax _—ay’ + k) dxdy
of of of . of .
A — ——— L e ]
B (15 N < 2% > 9}’ ’ 1> sz 9_}’] +k3

B @ NIU. B N1V
— Y 75 B B R T TR o
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HEERDA—%(a , b ) &
ZEE y= b BREE 2= F(x,5) 2

af
x

TR I = a BB T — = BTE ©

WARERBRERERE f (x, y)EEE
ERDA—E (a, b ) R
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o2f
oy

HRF G BRE

3f ' of
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—f(a,b)=0 : D
® W f.(a,b)(x—a)+ fi(a,b)(y-b)
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BEE BRER o BOARK=88EEMN HER :
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(BRE)R > EERBERBWNEL) » BF (x,5,2 JWHES
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) ERFGTEE 2 HAE :

N=<-2, —%, 1> Rz w2 EFHRZA cMBz=7 (x,y)
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x > 9y ’ 2z
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EHEREHMAR - MREROXRAME 2z = f (2,5) L—HOBE > TS84
BEBYTER xy THEAEFNE - WEXIBRER  BARh BERBNNRERME
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B FayEXES
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